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Subject - English
Time 1:00 Hour M.M. 50

Note :-

1 No mark is to be made on the question paper.
2 Write your answer on a separate answer sheet supplied to you.

1.  Read the following passage carefully and answer the questions given below :-

Once a donkey found a lion’s skin. He put it on, and proudly ran through the jungle.
When the animals saw him, they ran away in the fear as fast as they could. They all thought
the donkey was a real lion. One day the donkey met a fox. The fox also was afraid and ran
away. The donkey was so much pleased that he could not keep quiet. He put back his head
and began to bray. As soon as the fox heard the bray, he came running back. All the animals
now found out that he was not a lion, but a donkey in a lion’s skin. The donkey ran away to
save his life.

(i) What did a donkey find? 1
(ii) What did he do with the lion’s skin? 1
(iii) Why did the animals run away? 1
(iv) Whom did the donkey meet one day? 1
(v) Was the fox afraid? 1
(vi) When did the fox come running back? 1
(vii) Why did the donkey run away? 1

2. Write the opposite genders of :- 3
(i)  Author (i) Son (iii) Cock
(iv) Bitch (v) Lion (vi) Prince

3.  Write the plurals of :- 3
(i) Copy (i) Man (i) Wife
(iv) House (v} Sheep (vi) Thief

4.  Fill up the blanks with correct form of the verbs given in the brackets :- 5
(i) The earth................ round the sun. (revolve)
01 Bl for the guests since morning. (wait)
(iii) If you work hard, you........cccuu..... success.  (get)
(iv) IL...........you tomorrow. (see)
) THE POlDR..cvsmimnsior the thief last night.  (catch)

5. Make sentences of your own using the following words :- 5
(i) Prize (ii) Clouds (iii) Beautiful

(iv) Winner (v) Crowd



10.

Match the words in column A with their nearest meaning in column B :-

Column A Column B

Finish Head of the School
Buy Complete
Charming Fast

Quick Beautiful

Difficult Purchase

Principal Hard

Fill up the blanks with the help of the words given below in the brackets :-

(Cleverer, Sky, Place, Son, War)

i) My..........gotthe first

prize.

(ii) There is no.....ceee.... like home.

i) A fordnan
(iv) He came home after the....

..than any other animal.

.Wd5 OVErL

(v) Stars are shining in the.........ccccccoceo.ee.....

Fill up the blanks with the opposites of words given in the brackets :-

(i) This picture is very..........cumeusen
(i) Heispooebul.. ... ...

ili) Cow is 8 ..coveeevserrenenn@iimal,
(iii)

{iv) This jar is......ccccoornnansianss

(v} The DEhtE 8. o= .

Fill up the blanks with suitable prepositions given below :-

(for, at, with, into,of from, on)

(i) The book is......ceenneue...the table,
(ii) She is a great lover.................... books.
(iii) Do not laugh...................... the poor.
(iv) Heisangry..........c.coiennn me.

(v) He has no taste........ccccconne.-. music
(vi) Leaves fall down.................... the trees.
(vit) He jumped...........ooii. the river.

(ugly)
(dishonest)
(wild)
(empty)
(Off)

n

Write a letter to your friend, telling him/her how did you spend your summer vacation.

or

You are not able to participate in the games. So write an application to your principal

asking her/him for permission.
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1. Bx’y—x’y-Sx’y®I &l BT —

The Solution of 8x’y—x’y—5x"y will be - 1
(A) 3x°y (B) 2x’
€y 2x'y (D) -2x7y

2. 3yt T 2y * BT OFEHA BFTT —
ThE Prﬂduct ﬂf 3:{3 a‘nd 2)(4 1Fl"'il'i-”. bE - 1

(A) 5x* (B)  &x°
(€ 6x* (D)  6x*
3. fr= i @Rl v Ay 27
Among the following which number is irrational ? 1
A) 25 (B) 2+40
©) +oxa D) 243
4,  WHITHG BT BB ST Y Bl G B
Formula for area of rhombus is - 1

(A) % x @0l &1 UFEE (14 x product of diagonals)
(B) 1 x HHMFAY HoTRll &1 a1 x 99& €= & ot

(¥2 x sum of parallel sides x distance between them)
(C) o1 x ey (Length x width)
(D) % x 3R x $dAE (% x Base X height)
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afe Rl 32,55, 32,50, 52.05, 3.255, 3.250 HT UTd HH H WI o HEl HH BE 1

If the numbers 32.55, 32.50, 32.05, 3.255, 3.250 be placed in descending order then the
correct sequence will be :

(A) 3.250 > 3.255 > 32.05 > 3250 > 32.55

(B) 3255 > 32.50 > 32.05 > 3.255 > 3.250

(C) 3250 > 32.05 > 3255 > 3.250 > 3.255

(D) 3250 > 32.05 > 32.55 > 3.255 > 3.250

frdl g @ R iR = &1 au v Fraa wfr Bkl @ e dees am
B 1
The circle of circumference and diameter of a circle is a fixed quantity which numerical
value is -

(A) 7/3 (B)1.732 (©)22/7 (D) 341

B ¢ i 4] EE L i)
‘T:_:- i it L ..:.;;!.::_ ;
{ it
e Fii i
A i Hgapa !
: HI o e el
: il e
EE et i TS it - - ik
4 ; x
R ;
g g % £

39 or o g feel uRar &1 wifts @ guiiar mar 2 ) swe amm w = aeEt
B 9N © |

The monthly expenditure of a family is shown in the graph. On this basis give the
answer of the following question :



7. URER &1 G wifas @d 8| 1
The total monthly expenditure of the family is -

(A) 4000 % (B) 9200 %.
(C) 3200 . (D) 10,000 &.
8. uRar grT fREm w b a1 o wd & - 1
Total expenditure on education is -
(A) 2600 %. (B) 3200 %.
(C) 1000 % (D) 1800 .
9. uRar &1 3w @d v g W B 1

The maximum expenditure of the family is on which issue.
(A) TIET WX (On Education)
(B) IS WX (On Food)
(C) ey 9¥ (On Health)
(D) #&M fHET W (On House rent)
10. URAR gRT Ao Td Ren ) 64 78 @ § fFaa 5 &1 ofw 2 1

What is the difference in Rupees between the expenditure on food and education of the
family ?

(A) 600 %. (Rs600)
(B) 800 %. (Rs800)
(C) 1000 %. (Rs 1000)
(D) 700 %. (Rs700)
U9 H, 11 | 15 T & YAl o IO @iett @ 0 9 3 U6 | g i

A
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ofd A=70°, ,B=60", A1 af¥sBIvT ACD &1 WM TaRil | 2
If »A=70° B=60" then the external angle ACD will be.

el W St BT n-df 98 (2n-1) & O SHGT WEANAT BN | 2

If the n-th term of an arithmetic series is (2n-1) them the common difference will be.

frell TR 2ol @ wem ug @1 W 10 @ S0 ® 10 UST @7 A1 550 B O §HB

“giferm yg &1 W ferar | 2

If the first term of an AP is 10 and the sum of its 10 terms is 550 then its last term is.

TGS ¥ T2 ool & 99 o ¢ 405 A2 | At ¥ ¢ 39 g0 #1 8 O H g R
2 o guer e Ay e | fomd
The distance between Lucknow and New Delhi is 405 KM, If a train takes 8 hours to

travel this distance then the speed of train in mixed fraction is 2
Tshdfe @S T Bl BT I fordd |
Write the formula of finding the compound interest 2

39 e ww amenRa weEt & 9w yRdar § gel & |

f&d gy Wy fe=r 8

(The given measures as follows)

AB=AC = 4 cm. (77 &I ¥¥f V@M - Tanents to the circle)
OB=0C= 3 cm. (g1 ! e - Radius of the circle)
BC=4cm (V991 i@l &1 %18 - Length of chord of contact)
Swad s # oFd Wl & PR W ael & SR ¢

Answer the following questions bassed up on the above figure and their measures.

IR A% 91 (Mixed fraction) # € |
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fad 80 991 &1 S%a S| & | 2

Find the area of the given circle.

fad gu g @ aRfer sma &) 2
Find the circumference of the given circle.

51 ABC &1 &awhal siid 4 | 2
Find the area of the triangle ABC.

3RS OBC &1 &iawel §i1d & | 2

Find the area of the triangle OBC.

&2 gy Wi & MR W Bre ABC 9 usR &1 Brel 8 (49 & 3ER W)? 2
On the basis of the given measures, what is the type of triangle ABC (on the basis of

side)?

v dEm 21 | 25 96 & uvAl & forer gde I qfaer F g+t

.

x’ —5x+6 T UGS T BN | 2
Find the factors of x? _5x+6.

IR 552 _11x+39 P (& PFES (x+3) & A ORI [FES AT X | 3
If (x+3)is a factor of * —_5%* _11x+39 then find its another factor.

UF GIR 1 50 T s eng A, =i OF dfen 5:3:2 39 A e samwei SE 9
farem am fyermar | 3
A goldsmith mixed gold, silver and copper in the ratio 5:3:2 out of 50 gm. Of mixed alloy.

How much gm. of silver he mixed?

U HAAIBR &ird @l =g 60 0. T d1elE 50 . €| g0 ARI 3R 2 6./ 0 A
X ¥ PICIR IR A BT @Y S X | 3
A rectangular garden is of 60m. in lenght and 50 m. in width. Find the cost of nailed
wire fensing around the orchard with the rate of Rs. 2/m.

. A0 3+8+H13+H18+ &1 10 df Ug AT 10 TAT &1 AFT ST N | 3

Find the 10" term and sum to 10 terms of the A. P 3+8+13+18 4+ 4

P.T.0
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fers & <o 73 & &1 dEte s &Y (W A flex § Ry W )

Find the area of the field as shown in the figure (All measures are in metre) :- 3

40

5000 ®. BT 2 9§ BT 10% It &To1 B X W THHafg &N UG WHIRYT &1t § 3iaw
AT |

Find the difference between compound interest and simple interest of Rs. 5000 for 2
years at the rate of 10% annual. 3



